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Section 10.5 — 10.6 Quiz Review
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28. In the diagram below, BE =7, BO = 14, AD = 6, and CD = 12. Find the values of x and v.
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29. Water Tank You want to estimate the diameter of a circular water tank. You stand at a location
10.5 feet from the edge of the circular tank. From this position, your distance to a point of tangency

on the tank is 23 feet.
a. Draw a diagram of the situation. Label your position as C and the radius of the tank as r.

b. Find the length of the radius to the nearest tenth of a foot.
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30. Two secant segments meet at point A outside a circle. One secant segment passes
through the center of the circle and has an external segment length of 10 centimeters. The
external and internal segment lengths of the other secant segment are xand x—6
respectively. Given that the radius of the circle is 8 centimeters, find the value of x.
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